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Question Id : 9209068196 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

UM & MR R YN 1-5F TR G -

Heg R 7dH g1 & dftea J 9 A o ygd-ued o fRufd R srid uee fa,
IY UHY D! a1 39 fgd & a4, forg®! Uehe 461 & siidhe RO &1 FgH
981 9P 8l 39 el oyt ff, weg 39 fawa F ‘&gl iR Fr &1 d1s IR A firaar i
SHYUF 7Ig FRON DI BH-A H, 3fc: I TFY T O a1 S il R grar I o1
30+t gg-a fFufa &1 Wy sRu aag faan 39 st ofll & o drRo e U8, w’e
g yron faid Ffa 78 6 30 @ o ooy +ft dva € gl 3 axgait &1 siak uea
Bl I@! A5l SR gHdl 1 Fde el giar AR A o 7@l i<y 3 21w =
¥, IR o & AR @ oiR Jnnfore oftas &t saawa | &t ok gou # 39y ofr
2, I 9 9 A faredt S &1 uferure s @ 7 fansdht &t Sen &1 fagmos svan 21 =@t
3 Wy HRUT & 3UE § 39 SR &I 39w Ffe e Faa @ 98 8, A g ot e
21 b IO TrIford SfaR &1 HRUI gg & T Yt $1 &fd-faerd &% et 39 g
gfmﬁ?aﬁmw@wﬁamwmm,mﬂmmamma@mﬁm
|

Tl A urfes wu A fora gey afd &1 f3ar 3a-1 3ud ur =6, g8 fAfdarg g g,
39 HfeH-YeH & fqunar & ga o Wi ok gy & 1t a1 st 21 =l st
@R Fad gafere 7 s, srafie vesha daa & Bt & gow 3A @ g
Y 9 ford a1 Fvan g | afe g1 e F 8T o 31d € 6 3R A U arga Sl gfd &
fere wefa @ fird €1 Faa a1 91 € % 3 uefas € a1 =l =it sroht uepfa-afa
P ] FfC 918 JFG! 7, m%ﬂa@rmnﬁﬁmm% YT IS - WO
B 13 3 7 gran uRfufas= g foraa ot fire 9wd € 3 deere= T8 fired|

Sub questions

Question Number : 1 Question Id : 9209068197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T A oo fRufa & forg el o T & IR 4B A go IXe ge ol (B
1. Fafa fFeda 2 ik sgureas &
2. Qi REuel Y iR emdH € a2
3. QU fRufa & SR Y SR Je gEe 4
4. TRAWIAH S o ff

Options :
92090632401. 1



92090632402. 2
92090632403. 3
92090632404. 4

Question Number : 2 Question Id : 9209068198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TaTe =R 9, IR e & AR ¥ ok anfore Sfte &t argwn @
1. YA
2. oy Higen ¥ a1 Hegy 3dl ¢
3. WUAAETARADEAR
4. U9 HigAl W AW $1 ufaure il ¢

Options :

92090632405. 1
92090632406. 2
92090632407. 3
92090632408. 4

Question Number : 3 Question Id : 9209068199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it A aHfes wu  fora=n gou o e Ia-n I urn el | 39 SeH-UeH &
fareren &1 FROT 8

1. oY &l UPHfd &1 H1

2. Tfgan iR gey @) upfa

3. wfgen & upfa &1

4. UPpfa B Y@ 3R IuHT Hrd

Options :

92090632409. 1
92090632410. 2
92090632411. 3
92090632412. 4

Question Number : 4 Question Id : 9209068200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

! A P v 6 98 39 Wigedl &) A9 & srenfl, ot sy ae 4oy 3l

___ gAFi gl
1. T
2. Plel
3. fa@
4. BHdI
Options :

92090632413. 1
92090632414. 2
92090632415. 3
92090632416. 4

Question Number : 5 Question Id : 9209068201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S TR & SUR ¥l 31 Upfa-ofd Sieaar St g

1. Mifd®

2. Fom

3. SpqY

4. Evifas el
Options :

92090632417. 1
92090632418. 2
92090632419. 3
92090632420. 4

Question Id : 9209068196 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



UM & MYR W UH 1-5F R & -

ne SR 7 g0 & dfteyd 7 A 3 o uga-ued oo fufa R sy wee fam,
IY Y I a1 39 WfEd & a4, forg® yehe -1 & sidhe RO &1 FgH
981 9P 8l 39 orel ayl ff, weg 39 fawa # ‘@l iR aar &1 #18 IR A firaar i
3P g FRUN DI BH-aH H, 3fch: I T¥Y T 30t Tei1 HIP ol R grar I &l
3ol g feufa &1 vy R g faan 39 st anfll & $o srul i 98, =
7g «ron fFrard Frda 78 6 59 e & o o o) Sya 8wl 3 axgell @1 siav weg
21 37t Agat 3R a1 1 A 7E gar A A oft 9w sroerd 81 waene =R
B, IR A & AR @ oiR Innfore ofta &t saawun & &l ok gou F 4y ofR
8, I 9 9 A farddt S &1 uferare e § A fadt &t e &1 faqmos sear 81 =@t
3 WP HRUT & UE § 38 SR &1 39w Ffe wren Faa g@ 981 |, A g ot uEAn
B foh SO T SfaR &1 HRUI gg & U el F1 &fd-faerd &% ten 39 g
g?mﬁ?aamu@mﬁamwaﬂmﬁﬁmﬂ&nmamwa@muﬂm
|

il 3 arfes U @ fora gey oifd &1 f3ar 3o 30 urn =1, g8 Pfdae fig 8, =
39 HMEH-YeH & fquwar & ga § i ok goy & it & st 21wl st
T FHad gafere 7 H¥ch, srafis geeia Haa e 2t 3 gow GA & g
R 39F o0 a1 vt g1 afe g9 e A SE ot 31d grm 6 38 A qur wga S gfd &
fore uefa & frd €1 Faa ga-1 o1 € & 2 wigfos € an =l wf eroft wofa-ofaa
P & FfC 918 JFG! 7, mgﬂa@rmnﬁﬁmmmﬁ% YT I - WO
P &ig 3 7 gran yRfRufos g foras 2w fire Ted € 3an eere= =81 fed |

Sub questions

Question Number : 1 Question Id : 9209068197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T A a0 feufa & forg el ok T & IR YW A ga IR ge ol (&
1. fafa feda 2 siv sgureas 2
2. THaRaddsiRermERafay
3. Suw! fRufd & SR Y 3R JeTT e 4
4, T AWITHTS Yo A

Options :

92090632401. 1
92090632402. 2
92090632403. 3
92090632404. 4



Question Number : 2 Question Id : 9209068198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TaTe =R 9, IR e & AR ¥ ok anfore Sfte &t argwn @
1. YA
2. oy Higen ¥ a1 Hegy 3dl ¢
3. WUAAETARADEAR
4. U9 HigAl W AW $1 ufaure il ¢

Options :

92090632405. 1
92090632406. 2
92090632407. 3
92090632408. 4

Question Number : 3 Question Id : 9209068199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it A aHfes wu  fora=n gou o e Ia-n I urn el | 39 SeH-UeH &
fareren &1 FROT 8

1. oY &l UPHfd &1 H1

2. Tfgan iR gey @) upfa

3. wfgen & upfa &1

4. UPpfa B Y@ 3R IuHT Hrd

Options :

92090632409. 1
92090632410. 2
92090632411. 3
92090632412. 4

Question Number : 4 Question Id : 9209068200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! A Py f6ar i 98 39 vigedl &1 79 S STan!, ST snyd ddhe goy 98

___ gHFaiEl
1. A
2. Prel
3. faa
4. gHdI
Options :

92090632413. 1
92090632414. 2
92090632415. 3
92090632416. 4

Question Number : 5 Question Id : 9209068201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
39 TR & IR Wl @1 ugpfa-afid dimaar gt gl

1. EHifa®

2. Ffem

3. o

4. ¥aifde gl
Options :

92090632417. 1
92090632418. 2
92090632419. 3
92090632420. 4

Sub-Section Number : 2
Sub-Section 1d : 920906261
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209068202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



usfarad fog &1 ua foed areg # ghme
1. g 3 usT I &1 g [Fa
2. tar s gt 8, Wi W) Ee S
3. Hig &1 SR &l ST o
4. HIgH 99R S1HR e &, F |

Options :

92090632421. 1
92090632422. 2
92090632423. 3
92090632424. 4

Question Number : 6 Question Id : 9209068202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
usfarad fog &1 ua foed areg # ghme
1. g 3 usT I &1 g [Fa
2. tar s gt 8, Wi W) Ee S
3. Hig &1 SR &l ST o
4. HIgH d9R ST Wi @, | d|

Options :

92090632421. 1
92090632422. 2
92090632423. 3
92090632424. 4

Question Number : 7 Question Id : 9209068203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3131 &1 R 34 i 82
1. Sl SAT § TR e offl &
2. Sl UIgT Sgd ST &l
3. o 99 $@ Sl 8l
4. NP T THa

Options :

92090632425. 1
92090632426. 2
92090632427. 3
92090632428. 4

Question Number : 7 Question Id : 9209068203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3131 &1 R 34 i 82
1. Sl SAT § TR e offl &
2. Sl UIgT Sgd ST &l
3. o 99 $@ Sl 8l
4. NP T THa

Options :

92090632425. 1
92090632426. 2
92090632427. 3
92090632428. 4

Question Number : 8 Question Id : 9209068204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol %l g ot 7 38 U, IS oy U e B

1. AgdmEd

2. agdmn

3. Srgdmedr

4. T
Options :

92090632429. 1
92090632430. 2
92090632431. 3
92090632432. 4

Question Number : 8 Question Id : 9209068204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol Tl g oft 1 S W, TS oI U e
1. Agdme
2. agdmeAn
3. Srgdmedr
4. g
Options :

92090632429. 1
92090632430. 2
92090632431. 3
92090632432. 4

Question Number : 9 Question Id : 9209068205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 1 yaraard TE 2

1. Sfdie

2. R

3. +H

4
Options :

92090632433. 1
92090632434. 2
92090632435. 3
92090632436. 4

Question Number : 9 Question Id : 9209068205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 1 aiga TE 8
1. Sfafa
2. ¥R
3.
4. Uy
Options :

92090632433. 1
92090632434. 2
92090632435. 3
92090632436. 4

Question Number : 10 Question Id : 9209068206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STa-uTd T uerd &1 o §
1. IS &1 @S 7=

2. 304 Pl ggd GHSA
3. UeHA$HS el

4. g&ATH AHY A B B 3G

Options :

92090632437. 1
92090632438. 2
92090632439. 3
92090632440. 4

Question Number : 10 Question Id : 9209068206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STa-HId # HHedS & ol g
1. IS &1 Ui 7

2. 30 Pl ggd GHA
3. Yo ® &ds gl

4. G AT A EF &1 3T

Options :

92090632437. 1
92090632438. 2
92090632439. 3
92090632440. 4

Question Number : 11 Question Id : 9209068207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. g

2. G

3. g™

4. faurg
Options :

92090632441. 1
92090632442. 2
92090632443. 3
92090632444. 4

Question Number : 11 Question Id : 9209068207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7Y Wsg 31 W fadm g @
1. WG
2. dam
3. gH
4. foume
Options :

92090632441. 1
92090632442. 2
92090632443. 3
92090632444. 4

Question Number : 12 Question Id : 9209068208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

92090632445. 1
92090632446. 2
92090632447. 3
92090632448. 4

Question Number : 12 Question Id : 9209068208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Profofed 7 3 g wss @
1. Sl
2. g
3. UM
4. 3
Options :

92090632445. 1
92090632446. 2
92090632447. 3
92090632448. 4

Question Number : 13 Question Id : 9209068209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TG qUT STEI0 & fo U Teg 2

1. 9
2. 9
3. fgw
4. qof
Options :

92090632449. 1
92090632450. 2
92090632451. 3
92090632452. 4

Question Number : 13 Question Id : 9209068209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T STl & o O e @
1. UM
2. 9§
3. faw
4. quf
Options :

92090632449. 1
92090632450. 2
92090632451. 3
92090632452. 4

Question Number : 14 Question Id : 9209068210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ieifef@d # @ oy o aran T2 &

1. g

2. fagfd

3. UFdhy

4.  9fE
Options :

92090632453. 1
92090632454. 2
92090632455. 3
92090632456. 4

Question Number : 14 Question Id : 9209068210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ifefEd & 9 argrg o= aren Uez @
1. g
2. fghd
3. Uided
4. 9
Options :

92090632453. 1
92090632454. 2
92090632455. 3
92090632456. 4

Question Number : 15 Question Id : 9209068211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T gg <8 & Forl el —ugd a1 @ srgfe Ty S|
1. Jg Usg &1 UG
2. =it wreg won &1 v
3. 48 SR WS BT W
4. AT

Options :

92090632457. 1
92090632458. 2
92090632459. 3
92090632460. 4

Question Number : 15 Question Id : 9209068211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T UG &8 P Te el —ugd a1ey $1 fe Wy Fifenu
1. Jg Usa &I UGN
2. fac=h g g &1 vEm
3. 48 SR ol &1 W
4. AR GG

Options :

92090632457. 1
92090632458. 2
92090632459. 3
92090632460. 4

Question Number : 16 Question Id : 9209068212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fe=dt urn & faer 1 9 oy HH-AT 87
1. Uipd—3uy—R=—urfer
2. uf—urpd—amyg—R=<d
3. SOUI—urfd—urgd—E-dl
4. fedl—afa—smy=m—ursd

Options :

92090632461. 1
92090632462. 2
92090632463. 3
92090632464. 4

Question Number : 16 Question Id : 9209068212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe=dl v & fara &1 9 3 hH PIH- 87
1. Uhd—auug—g-di—urfer
2. Ufd—upd—aaue—R=<
3. SMYI—ulf—wsa—fR=d
4. —ufa—smyer—urgd

Options :

92090632461. 1
92090632462. 2
92090632463. 3
92090632464. 4

Question Number : 17 Question Id : 9209068213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fay 2=t feaw & w=mar Srar 82

1. 11 Hdgad

2. 11 AR

3. 10 BRad

4. 10 SEGN
Options :

92090632465. 1
92090632466. 2
92090632467. 3
92090632468. 4

Question Number : 17 Question Id : 9209068213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fasy o=} feawr sa wema irerm @2
1. 11 AR
2. 11 TEAR
3. 10 BRad
4. 10 SE
Options :

92090632465. 1
92090632466. 2
92090632467. 3
92090632468. 4

Question Number : 18 Question Id : 9209068214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qunTen Hed &
1. Uil & safud Oeg &
2. i F W &
3. 3ieRl & afeyd wg &
4, &Rl b Ypa HI

Options :

92090632469. 1
92090632470. 2
92090632471. 3
92090632472. 4

Question Number : 18 Question Id : 9209068214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

quinTer Hgd &
1. 9U1 & Hafyd IHg &I
2. wfgiF g H

3. 3ieRl & afeyd wg &
4. &l P o Bl

Options :

92090632469. 1
92090632470. 2
92090632471. 3
92090632472. 4

Question Number : 19 Question Id : 9209068215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. Semfiewu

2. SfepfirERo

3. siefiavor

4. SNt
Options :

92090632473. 1
92090632474. 2
92090632475. 3
92090632476. 4

Question Number : 19 Question Id : 9209068215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y[ dd-i1 1 99 Hiferg|
1. SemfieRu
2. ofieifia
3. ofeffiavor
4. SN
Options :

92090632473. 1
92090632474. 2
92090632475. 3
92090632476. 4

Question Number : 20 Question Id : 9209068216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt &1 Ot Ofi-fasse §

1. H'F[+1:Ifﬁ

2. H7i+1:lﬁ"i

: ﬂﬁ+'ﬂfﬂ

4. Hﬁ+tlfa'
Options :

92090632477. 1
92090632478. 2
92090632479. 3
92090632480. 4

Question Number : 20 Question Id : 9209068216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 et WA 8
1. 9 + #fd
2. T +Hfd
3. ¥g + Hfd
4. Gq+#fd
Options :

92090632477. 1
92090632478. 2
92090632479. 3
92090632480. 4

Question Number : 21 Question Id : 9209068217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. I

2. g

3.

4. FR
Options :

92090632481. 1
92090632482. 2
92090632483. 3
92090632484. 4

Question Number : 21 Question Id : 9209068217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feRTy s & vge Ui @
i, W
2. 4
3.
4, R
Options :

92090632481. 1
92090632482. 2
92090632483. 3
92090632484. 4

Question Number : 22 Question Id : 9209068218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. gl

2. ey

3. 3ferdivd

4. HHYRY
Options :

92090632485. 1
92090632486. 2
92090632487. 3
92090632488. 4

Question Number : 22 Question Id : 9209068218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ISR T BIH-1 GAN 82
1. dgdife
2. dGqy
3. 3fedivd
4, FHHYRY
Options :

92090632485. 1
92090632486. 2
92090632487. 3
92090632488. 4

Question Number : 23 Question Id : 9209068219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. dF

2. U8

3. WH

4. UdNM
Options :

92090632489. 1
92090632490. 2
92090632491. 3
92090632492. 4

Question Number : 23 Question Id : 9209068219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4t feu o famedl B | digd Wse &1 99 Hiferg|

1. %

2. He

3. WH

4. WHdM
Options :

92090632489. 1
92090632490. 2
92090632491. 3
92090632492. 4

Question Number : 24 Question Id : 9209068220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRYE! B 9% ar—a1R # RS §
1. PHDIRSD
2. UWEH $RE
3. 3UIGH RS
4. B PRS

Options :

92090632493. 1
92090632494. 2
92090632495. 3
92090632496. 4

Question Number : 24 Question Id : 9209068220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSl & I T —aTH H HRP ¢
1. ®HDIRD
2. A PRE
3. S{UlEH dNE
4. O PRSP

Options :

92090632493. 1
92090632494. 2
92090632495. 3
92090632496. 4

Question Number : 25 Question Id : 9209068221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafefad 7 § @9-a1 fea o &1 yafgarh 78 82

1. W

2. 3|

3 b1

4. HIHE
Options :

92090632497. 1
92090632498. 2
92090632499. 3
92090632500. 4

Question Number : 25 Question Id : 9209068221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefad 7 § @9-a1 fea o &1 yafgarh 78 82

1. W

2. 3|

3 b1

4. HIHE
Options :

92090632497. 1
92090632498. 2
92090632499. 3
92090632500. 4

Part B
Section Id : 920906164
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 67
Number of Questions to be attempted : 67

Section Marks : 300



Enable Mark as Answered Mark for Review and Clear

Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906262
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 9209068222 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)
Question Label : Comprehension

Based on the given passage, answer the questions 26-30 :

The court has made dissection of animals optional for biclogy students. | wonder if
another court order can be sought to make observation of nature a requirement for
science study. A student can get through school with shining success without
developing the ability to notice details in natural phenomena. There are children
whose entire knowledge of nature comes from books, the blackboard, and a few
laboratory experiments. In the case of some, we can add a computer monitor. | wish
the science syllabi might include a reading of the King Solomon’s Ring, a delightful
classic on animal behaviour and Jungle and Backyard, a collection of essays by the
late M. Krishnan. It is a pity our children get no taste of the pleasure that careful
observation of a cat, a fish, or a tree in natural circumstances can bring.

Books which are not fortunate enough to gain the status of textbooks mean nothing
in our system. Otherwise, a remarkable book on trees written by Chakravarti S.
Venkatesh would have made an impact. The kind of leisure it demands, and the
freedom to connect things in one's mind, it assumes, have no place in our schools
because they are fixated on textbook-based examination.

| recall meeting a large group of children outside the wolf's compound in the Tokyo
Zoo. Several hours later. | noticed the children and their teacher still busy with the
wolf. They had spent the day watching every part and behaviour of the wolf, taking
notes and comparing their observations with those given in the books they were
carrying.

Our children, of course, never get this kind of opportunity or training. A visit to the
zoo means everything, just as our syllabi provide a cursory, whirlwind coverage of
every topic and fact. A group of children was rushing past the photo exhibition at the
Sabarmati Ashram. Two boys managed to stop at a picture for a few minutes,
noticing something unusual in it. As | watched in horror, one of the teachers came
back looking for the boys and the first thing she did on finding them was to slap and
scold them for staying behind. Anyone who has hung around school corridors would
know that teachers give priority to maintaining group discipline over appreciating
individual curiosity or effort.

Sub questions

Question Number : 26 Question Id : 9209068223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Children whose entire knowledge of nature come from books, the blackboard,
and a few laboratory experiments along with a computer monitor, their
understanding of nature is

1. devoid of skills

2. devoid of syllabi
3. devoid of reading
4

devoid of pleasure

Options :

92090632501. 1
92090632502. 2
92090632503. 3
92090632504. 4

Question Number : 27 Question Id : 9209068224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the Tokyo Zoo incident describe by the author, the children learnt to
1. be sensitive to animals and conscious about their body parts
2.  be proficient in animal studies and zoo related behaviour

3. observe animals’ behaviour and form and make comparison.

4.

give respect to animals by spending time in the zoo

Options :

92090632505. 1
92090632506. 2
92090632507. 3
92090632508. 4

Question Number : 28 Question Id : 9209068225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a teacher uses books other than the textbooks in the class, his/her effort will
1. make the burden on children to connect things in their mind
2.  give an opportunity of leisurely and free learning
3. create fortune for the students to get more books
4.

give rise to a remarkable fixation about books and textbooks

Options :

92090632509. 1
92090632510. 2
92090632511. 3
92090632512. 4

Question Number : 29 Question Id : 9209068226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A good learning opportunity should provide
1.  an opportunity of free and relaxed investigation and ocbservation
2 a cursory, whirlwind coverage of every topic and fact
3.  a prioritised opportunity of group discipline and curiosity
4 an experience of whirlwind investigation and observation.
Options :
92090632513. 1
92090632514. 2

92090632515. 3
92090632516. 4

Question Number : 30 Question Id : 9209068227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To make observation of nature a requirement for science study-
1.  an acceptance of the idea is needed
2. acourt order is needed
3. adisciplinarian teacher is needed
4

a collection of books is needed

Options :

92090632517. 1
92090632518. 2
92090632519. 3
92090632520. 4

Question Id : 9209068222 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)
Question Label : Comprehension
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Sub questions

Question Number : 26 Question Id : 9209068223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. PREfEEE
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Options :

92090632501. 1
92090632502. 2
92090632503. 3
92090632504. 4

Question Number : 27 Question Id : 9209068224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g g1 aftld Afesdr fRfgareRr @t gem gr1 aE 3 W@

1. oHad & ufd Gagagite g1 aut 9% IR & il & vy d g=aq
GiEl
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4. fafsarr & 9oy fares 9Hedl &) g e

Options :

92090632505. 1
92090632506. 2
92090632507. 3
92090632508. 4

Question Number : 28 Question Id : 9209068225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632509. 1
92090632510. 2
92090632511. 3
92090632512. 4

Question Number : 29 Question Id : 9209068226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST & Gaw e S|
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Options :

92090632513. 1
92090632514. 2
92090632515. 3
92090632516. 4

Question Number : 30 Question Id : 9209068227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632517. 1

92090632518. 2

92090632519. 3
92090632520. 4

Sub-Section Number : 2
Sub-Section Id : 920906263
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 9209068228 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Question Label : Comprehension



Based on the given passage, answer the questions 31-35:

We were nearly finished with listening to everybody's moming life when a myna
came in, sat on the ceiling fan and started chattering loudly. Mala looked at her and
said, “Sir, she too wants to talk about her morning routine!”. This was a fine
statement coming from Mala who was feeling a little inane since she had no special
morning narrative to offer as a hosteller. Her remark cheered her up and everybody
else too. It gave me an interesting idea which vaguely reflected the topic we had
abandoned. | asked, ‘how far do you think this myna has come from?' No one took
this question seriously, but it propelled me to go a step further, ‘what else is present
in our class that might have come from afar?' It was obvious that | was now referring
to non-human participants but were they living or non-living? This question came
from Rupal, one of the habitual late comers. ‘Never mind', | said, 'say whatever you
notice'. She surprised everybody by saying that the electricity come from God knows
where. Two students immediately intervened. ‘you know it is coming from thermal
power station’. “It might be coming from the national grid—it is all connected, you
know." There was silence. Even the myna turned quiet. My job in such moments
came down to prompting further, so | said, ‘That's a great thought. Let us see if there
are any other long-distance participants in our class.’

My students started spotting things at a wild, inspired speed. Dust on the desks! The
airl The sound of traffic! The dust seemed to have travelled the longest distance
indeed—from Rajasthan as everybody thought. | was ready to conclude. "So, is that
the longest commuter?” We were uncertain, but not quite ready to let the quest die.
Jaya said "The sun has travelled lakhs of miles.” | was stunned. So was everyone
else. We had become aware of a phenomenon we had never thought about, how the
sun came from so far away to make our class happen. The unpredicted outcomes of
learning are far more important than the ones we can predict and plan for.

Sub questions

Question Number : 31 Question Id : 9209068229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The teacher repeatedly asks children to think of more long distance commuters.
Which of the following describes the teacher's approach more appropriately?

1. Asking several questions

2.  Making students think

3. Not satisfied by any answer
4

Mot responding to students’ queries

Options :

92090632521. 1
92090632522. 2
92090632523. 3
92090632524. 4



Question Number : 32 Question Id : 9209068230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The children asked several questions in this class which of the following best
describes children’s attitude?

1. Participatory
i Bothersome
3.  Hyperactive

4 Maughty

Options :

92090632525. 1
92090632526. 2
92090632527. 3
92090632528. 4

Question Number : 33 Question Id : 9209068231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The teacher opened the discussion on long-distance commuters by asking
about the myna. This shows his ability to

1.  ask multiple questions about long distance commuters

2 help children arrive at the correct answer to his questions
3. utilize unexpected learmning opportunities in the classroom
4 use birds as a teaching learning material

Options :

92090632529. 1
92090632530. 2
92090632531. 3
92090632532. 4

Question Number : 34 Question Id : 9209068232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The students were talking a lot in this class. Which word describes the teacher
best?

1.  Unplanned
2. Talkative
3. Democratic
4

Fleasant

Options :

92090632533. 1
92090632534. 2
92090632535. 3
92090632536. 4

Question Number : 35 Question Id : 9209068233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By addressing, dust, air, sound and the sunlight as long distance participants,
the teacher

1. entertained his students

2 expanded his students thought
3. cheered up his students
4

reduced the shame of coming late

Options :

92090632537. 1
92090632538. 2
92090632539. 3
92090632540. 4

Question Id : 9209068228 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 9209068229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090632521. 1



92090632522. 2
92090632523. 3
92090632524. 4

Question Number : 32 Question Id : 9209068230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632525. 1
92090632526. 2
92090632527. 3
92090632528. 4

Question Number : 33 Question Id : 9209068231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632529. 1
92090632530. 2
92090632531. 3
92090632532. 4



Question Number : 34 Question Id : 9209068232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 e H G 9gd a1d 3 @ U1 g A @ 919-31 Usg e 1 gafaw w0 A
aftfd sear g2

1. St

2. g

3. Yeidifa®

4.  UHdA
Options :

92090632533. 1
92090632534. 2
92090632535. 3
92090632536. 4

Question Number : 35 Question Id : 9209068233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632537. 1
92090632538. 2
92090632539. 3
92090632540. 4

Sub-Section Number : 3
Sub-Section Id : 920906264
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 9209068234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If young children listen to stories told by different people, they begin to... them
1. discriminate and select between
2 differentiate and evaluate
3. discriminate and reject
4 differentiate and interpret

Options :

92090632541. 1
92090632542. 2
92090632543. 3
92090632544. 4

Question Number : 36 Question Id : 9209068234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. faudiewu aul st R 3
4. o & aun e Fere

Options :

92090632541. 1
92090632542. 2
92090632543. 3
92090632544. 4

Question Number : 37 Question Id : 9209068235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is not correct?

1. Learning is influenced by the social context from which the teachers
come

2.  The key role of a teacher is as a facilitator and supporter of learning
3. Teacher needs to recognize herself as the only source of learning

4. Teacher is a participant in the learner's efforts at evolving learning
experiences

Options :

92090632545. 1
92090632546. 2
92090632547. 3
92090632548. 4

Question Number : 37 Question Id : 9209068235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 Temlf & sfm srvEl & IURA ¥ e R v ggurft @

Options :

92090632545. 1
92090632546. 2
92090632547. 3
92090632548. 4

Question Number : 38 Question Id : 9209068236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the status given to Hindi language by the Constitution in India in
Article 343 (1)?

1. Link language

2. Official language
3. Heritage language
4. Modern Language

Options :

92090632549. 1
92090632550. 2
92090632551. 3
92090632552. 4

Question Number : 38 Question Id : 9209068236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd & dfdur &t 4R 343 () & fedt wrar &1 o wE e man g

1. U9 4T

2. i Hn

3. URMRE Yl

4. 3 ure
Options :

92090632549. 1
92090632550. 2
92090632551. 3
92090632552. 4

Question Number : 39 Question Id : 9209068237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



All teachers must take their students to different kinds of museums on science,
history crafts and others. A museum'’s greatest value is that the students feel
curious about the world. For that, it is important that the children

1.  are strictly supervised by the teacher

2 admire the exhibits fully and spend time with them independtly
3. are given a very specific mandate at the beginning
4

learn about each and every exhibit and write about them.

Options :

92090632553. 1
92090632554. 2
92090632555. 3
92090632556. 4

Question Number : 39 Question Id : 9209068237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632553. 1
92090632554. 2
92090632555. 3
92090632556. 4

Question Number : 40 Question Id : 9209068238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



E. K. Janaki Ammal was the first Indian woman to be awarded a Ph.D in the
botanical sciences. Her first expansive archive—based analytical biography has
recently been published. What is its title?

1. Chromosome Woman, Nomad Scientist

2. Phytogeography Woman, Wave Scientist
3. Ethnobotany Woman, Dynamic Scientist
4.

Cytology Woman, Vagrant Scientist

Options :

92090632557. 1
92090632558. 2
92090632559. 3
92090632560. 4

Question Number : 40 Question Id : 9209068238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. &. D! T UYH R Aigen 4 {5 a1wafa 2ra & siqee (Ph. D) &1
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Options :

92090632557. 1
92090632558. 2
92090632559. 3
92090632560. 4

Question Number : 41 Question Id : 9209068239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The UN Convention on the Rights of the Child (CRC) which requires the state
to protect the child from all forms of physical and mental violence and from
torture and others cruel or degrading punishments or treatments was acceded
by India in

1. 1989
2. 1992
3. 2009
4. 2006
Options :

92090632561. 1
92090632562. 2
92090632563. 3
92090632564. 4

Question Number : 41 Question Id : 9209068239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T=ll & USRI (CRC) & fdwd # dgad AP FrieH H, g=df 31 IH YR @l
RING 9 AR fgar, Iadie= aur 3 $X °1 UaHY-S ¢8 dul ddeR 9 I
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1. 1989
2. 1992
3. 2009
4. 2006
Options :

92090632561. 1
92090632562. 2
92090632563. 3
92090632564. 4

Question Number : 42 Question Id : 9209068240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Mahashweta Devi's"Why—Why Girl, the little girl Moina, belongs to which
tribal group?

1. Bhils from Rajasthan

2. (Gonds from Madhya Pradesh

3. Santhals from Chota Nagpur Region
4.

Sabars from West Bengal

Options :

92090632565. 1
92090632566. 2
92090632567. 3
92090632568. 4

Question Number : 42 Question Id : 9209068240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632565. 1
92090632566. 2
92090632567. 3
92090632568. 4

Question Number : 43 Question Id : 9209068241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“The State of the World's Children” report is published by

1. UNESCO

2.  UNICEF

3.  UNIDO

4. UPU
Options :

92090632569. 1
92090632570. 2
92090632571. 3
92090632572. 4

Question Number : 43 Question Id : 9209068241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fay & w=if =1 fufd 1 U 1 feg e fean

1. gl

2. YW®

3. sl

4. g ULy
Options :

92090632569. 1
92090632570. 2
92090632571. 3
92090632572. 4

Question Number : 44 Question Id : 9209068242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Teachers must take their students to museums regularly. Any museum's
greatest value to a child is to arouse his curiosity so that they wish to penetrate
even more deeply to grasp what they see in the museum. If they get a chance

to admire the things in their own good time, they are likely to develop a feeling
of the world.

1. awe for the wonders of

2. having learnt about things in

3.  having mastered important things in
4.

Knowing the School syllabus

Options :

92090632573. 1
92090632574. 2
92090632575. 3
92090632576. 4

Question Number : 44 Question Id : 9209068242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 1 3o BT 1 Fafid a4 @ Yugrer # o S =ifee ) foa +ff dugread
P US g & fo galfs € 3B IgBd B Ad B! R b a8
TueTer | T o arel! Trelt 31 ofR 4Rt siftre TeRTs @ we 9 g1 | afe
I8 A0 gy H aegail ) Ui 9 &1 e A dr g fay s ———
! Hig1 [Afd g1 &l
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Options :

92090632573. 1
92090632574. 2
92090632575. 3
92090632576. 4

Question Number : 45 Question Id : 9209068243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UNESCO preserves World Heritage sites in 167 countries

1. 3100
2. 3762
3. 1073
4. 2551
Options :

92090632577. 1
92090632578. 2
92090632579. 3
92090632580. 4

Question Number : 45 Question Id : 9209068243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 167 SR A fay urmfes el & kféra svar 8

1. 3100
2. 3762
3. 1073
4. 2551
Options :

92090632577. 1
92090632578. 2
92090632579. 3
92090632580. 4

Question Number : 46 Question Id : 9209068244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List the names of Gandhi Peace Prize winners in the chronological order from
oldest to latest.

A. Chandi Prasad Bhau

Dr. John Hume
Ram Krishna Mission

Dr. Nelson Mandela

m 29 0 m

Baba Amte
Choose the correct answer from the options given below :
1. ABCDE
2. ADBCE
3 GEDBA
4. D,B,C,EA

Options :

92090632581. 1
92090632582. 2
92090632583. 3
92090632584. 4

Question Number : 46 Question Id : 9209068244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mt 2t R fasrarsii & =l &) A @ 7dH 3 R A 91 §U ST HER
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A, didl UIE WIS

B. Sl dHggH
c. W fEH
D. S A& Haam
E. a3
-1 fau g el # @ | IR &1 97 B -

1. A,B,C,D,E
2 ADB.CE
3. CEDBA

4. D,B,CEA

Options :

92090632581. 1
92090632582. 2
92090632583. 3
92090632584. 4

Question Number : 47 Question Id : 9209068245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements—| : Rabindra Nath Tagore was the first person to receive Noble
prize for India.

Statements—Il : The first distribution of the Nobel prizes took place on
December 10, 1901, on the fifth anniversary of Nobel's
death.

In the light of the above statements, choose the correct answer from the
options given below.

1.  Both Statement—I and Statement—I| are true
2. Both Statement—I and Statement—I| are false
3. Statement—I is true but Statement—I| is false
4

Statement—I is false but Statement—Il is true

Options :

92090632585. 1
92090632586. 2
92090632587. 3
92090632588. 4

Question Number : 47 Question Id : 9209068245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090632585. 1
92090632586. 2



92090632587. 3
92090632588. 4

Question Number : 48 Question Id : 9209068246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A) : The New Education Policy 2020 aims to pave way for
transformational reforms in school and higher education
systems in the country.

Reason (R) : Today education is considered pivotal for social and
economic development through development of human
resources.

In the light of the above statements, choose the most appropriate answer
from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090632589. 1
92090632590. 2
92090632591. 3
92090632592. 4

Question Number : 48 Question Id : 9209068246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632589. 1
92090632590. 2
92090632591. 3
92090632592. 4

Question Number : 49 Question Id : 9209068247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A) : After pandemic, it was assumed that learning will never be
same again, everyone wanted children back in school.
Teaching is more likely to move to a blended leaming
format.

Reason (R) : The New Education policy in India and the ‘concept note on
blended learning’ which UGC brought out in May 2020, both
leave enough room for entire learning

In the light of the above statements, choose the most appropriate answer
from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2.  Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A} is correct but (R) is not correct
4.  (A)is not correct but (R) is correct

Options :

92090632593. 1
92090632594. 2
92090632595. 3
92090632596. 4

Question Number : 49 Question Id : 9209068247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632593. 1
92090632594. 2
92090632595. 3
92090632596. 4

Question Number : 50 Question Id : 9209068248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The UN adopted the declaration of Human Rights in
1. July 1950
2.  November 1958
3. December 1949
4.

December 1848

Options :

92090632597. 1
92090632598. 2
92090632599. 3
92090632600. 4



Question Number : 50 Question Id : 9209068248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 9dls 1950

2. Id%eR 1958

3. fqumar 1949

4. feuray 1948
Options :

92090632597. 1
92090632598. 2
92090632599. 3
92090632600. 4

Question Number : 51 Question Id : 9209068249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

*Konark Samman” is given for the significant contribution in the field of
1. Indian Cinema

2 Medicine

3. Literature

4

Arts

Options :

92090632601. 1
92090632602. 2
92090632603. 3
92090632604. 4

Question Number : 51 Question Id : 9209068249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PG A F {59 & 7 wewaqef girer & fre faar S 82
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2. fafeam
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Options :

92090632601. 1
92090632602. 2
92090632603. 3
92090632604. 4

Question Number : 52 Question Id : 9209068250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wha is the first Indian to receive Gold Medal in Athletics in Tokyo Qlympics?
1. P.I. Usha
2. Rishabh Shukla
3. Abhinav Bindra

4. Neeraj Chopla
Options :
92090632605. 1
92090632606. 2
92090632607. 3
92090632608. 4

Question Number : 52 Question Id : 9209068250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632605. 1
92090632606. 2
92090632607. 3
92090632608. 4

Question Number : 53 Question Id : 9209068251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous children's film The Blue Umbrella, released in 2005, is based on a
novel written by

1. Prem Chand
2.  Dhan Gopal Mukeriji
3. Ruskin Bond

4. Roald Dahl

Options :

92090632609. 1
92090632610. 2
92090632611. 3
92090632612. 4

Question Number : 53 Question Id : 9209068251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632609. 1
92090632610. 2
92090632611. 3
92090632612. 4

Question Number : 54 Question Id : 9209068252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the famous story, "Brahmarakshas ka Shishya" by Muktibodh, the teacher
1. becomes a demon because he had misused his knowledge
2 he had a fierce demonic spirit and personality
3.  he had done evil things in his life and sought salvation
4

becomes a demon because he had no student to teach

Options :

92090632613. 1
92090632614. 2
92090632615. 3
92090632616. 4

Question Number : 54 Question Id : 9209068252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632613. 1
92090632614. 2
92090632615. 3
92090632616. 4

Question Number : 55 Question Id : 9209068253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match the ‘Dates’ in List—I| with the 'Days’ in List-I :

List-I List-II
(Dates) (Days)
(A) | 5th October () | World Literacy Day
(B) | 4th January (I1) | International Day of
Education

(C) | 24th January (1) | World Braille Day

(D) | 8th September | (IV) | World Teachers Day

Choose the correct answer from the options given below :
1. (A=) (B)(ll); (C)-(1); (D)-(1V)
2. (A-(V); (B)-(1N); (C)-(11); (D))
3. (A-(VY: (B)-(); (C)-(1); (D)-(I)
4. (A=(); B)II); (C-(I); (D)=(IV)

Options :

92090632617. 1
92090632618. 2
92090632619. 3
92090632620. 4



Question Number : 55 Question Id : 9209068253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G- & iy Galt-1 &1 e Sifse
G-I -l
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8) |45Fad | () | SicRig e feaw
(€ |24l | (i) | fay o faaw
D) |8 R | (v) |3y i fgw

1= feu v fawedi # 9 wdt IR &1 9u Bifou
1. (AN B-1); (O-(I); (D)-1V)
2. (A-(V); (B)=(In); (C-(1n); (D))
3. (AHIV); (B (C)-(1); (D))
4. (AH0; (B)-I); (C-(m); (D)—IV)

Options :

92090632617. 1
92090632618. 2
92090632619. 3
92090632620. 4

Question Number : 56 Question Id : 9209068254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the 'Organizations’ in List—=Il with the ‘Head Quarters’ in List=Il :

List-I List—lI
(Organizations) (Head Quarters)
(A) | ASEAN () | Geneva
(B) | SAARC (1) | Jakarta
(C) | UNCTAD () | Nepal
(D) | OPEC (IV) | Vienna

Choose the correct answer from the options given below
1. (A (BI): (CHII); (D)(1V)
2. (AH(IVY: (B)=(): (C)=(1): (D)1
3. (A (BY(I); (CH(IV); (D1
4. (A1) (B)(I); (CH(1): (Dy-(1V)

Options :

92090632621. 1
92090632622. 2
92090632623. 3
92090632624. 4

Question Number : 56 Question Id : 9209068254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gell-1 & iy Gelt-11 &1 e Sifse

- -

(wTe) (FSTer)
(A) | ASEAN () | S
(B) | SAARC (n | Sl

(C) | UNCTAD (i | =re

(D) | OPEC avy | &8

41 feu v fawedt # 4 wdt 39 &1 9u- Bifou

1. (A) (I); (B) (H); (C) (1l); (D) (IV)

2. (A)IV); (B)=(I; (Q=(1); (D))
3. (A); (BY=(); (CH(IV); (D))
4. (A1 (B=(; (CD); (D)HIV)

Options :

92090632621. 1
92090632622. 2
92090632623. 3
92090632624. 4

Question Number : 57 Question Id : 9209068255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which response is right for the given Venn diagram (shaded portion)?

)

\B/
1. AnC
2 AmB

3. (AuB)uC

4. AuC
Options :



92090632625. 1
92090632626. 2
92090632627. 3
92090632628. 4

Question Number : 57 Question Id : 9209068255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu e 34 o (@Tdd &) 1 9 ST 1 82
U
G4
\B/
1 AnC
2. AmB

3. (AuB)uUC
4. AuC

Options :

92090632625. 1
92090632626. 2
92090632627. 3
92090632628. 4

Question Number : 58 Question Id : 9209068256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the median of the given data?

2,:3.5.0,8,13, 4

1. 0

2. 45

3. 4

4. 5
Options :

92090632629. 1
92090632630. 2



92090632631. 3
92090632632. 4

Question Number : 58 Question Id : 9209068256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fau 1w srer 7 wifeeT &1 1 & 87

2.:3:9:0,8, 13,4

1. B
2. 45
3. 4
4. 5
Options :

92090632629. 1
92090632630. 2
92090632631. 3
92090632632. 4

Question Number : 59 Question Id : 9209068257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of length and Breadth of a rectangle is 4 : 1 and its area is 64 om?
then what will be the value of length and Breadth of the rectangle?

1. 16 cm and 4 cm
2 4 cmand 1 cm
3. 4cmand 16 cm
4 16 em and 4 cm
Options :
92090632633. 1
92090632634. 2

92090632635. 3
92090632636. 4

Question Number : 59 Question Id : 9209068257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

afe U 3RId &1 TFaTg 3R SIS BT 0T 41 178 3R IHBT 495 64 8. 112 8,
d JHTId P raTs IR SIS B A T G

1. 168 M R4
2. 49 aR1A A
3. 487 siR169
4. 16 SR SR 4. M,

Options :

92090632633. 1
92090632634. 2
92090632635. 3
92090632636. 4

Question Number : 60 Question Id : 9209068258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the distance between point P(1, -2, 4)and Q(4, -2, 1)in a 3-D plane?

1.  Yunit

2. 1,f2 unit

3. 342 unit

4. 23 unit
Options :

92090632637. 1
92090632638. 2
92090632639. 3
92090632640. 4

Question Number : 60 Question Id : 9209068258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fiig P(1, -2 4) 3R Q(4, -2 1) % o= I emarfird aa & @ g8 gnfiz

1. 9 HE®
2. 92 HEAS
3. 3.2 A&
4, 23 HES
Options :

92090632637. 1
92090632638. 2
92090632639. 3
92090632640. 4

Question Number : 61 Question Id : 9209068259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f:[a, b] - R be a continuous function on [a, b] and differentiable on (a, b),
then there exists some e in (a, b) such that

f(b)-f(a)

§ e =

This theorem in named
1 Mean value theorem
Roll's theorem

2
3. Central limit theorem
4

Binomial theorem

Options :

92090632641. 1
92090632642. 2
92090632643. 3
92090632644. 4

Question Number : 61 Question Id : 9209068259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WM f:[a, b] > R [a b] W U Hdd Bad g 3R (a, b) W AdHa-14 g, dd (a. b)
HU®H e SufRa &, o i

Fle)= f[bg:f{a}
39 YUY &1 R Fed &7
1. O AF T (@ deg wia)
2. AdHI UG
3. "y O Uy (@cd fafie gy
4. e &1 yAg
Options :

92090632641. 1
92090632642. 2
92090632643. 3
92090632644. 4

Question Number : 62 Question Id : 9209068260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A) : Two plus two equals four.
Reason (R) : The sum of two positive Integers is a positive Integer.

In the light of the above statements, choose the most appropriate answer
from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A)and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct
4. (A)is not correct but (R) is correct
Options :
92090632645. 1

92090632646. 2
92090632647. 3



92090632648. 4

Question Number : 62 Question Id : 9209068260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I @ w1 R e €, e § v sfirey (A) & w0 ¥ fafea § @ gom 3uF
HRUT(R) & FUH

MMEE @) . FARJIREAE
HRI (R) - 3 yeTe quf deemrait &1 ant e qof den il 8
ﬂauﬁﬁmﬁ,ﬁmmﬁaﬁﬁﬁ%mmmﬁw

1. (&) 3R (R) GHI & € SR (R), (A) P U e &

2. (A) 3R (R) SHI W& §, A (R), (A) B et e T @
3. (A)UE g Afd (R) WE A ®

4. (A Hel TET 8 AfF (R) WE1 @

Options :

92090632645. 1
92090632646. 2
92090632647. 3
92090632648. 4

Question Number : 63 Question Id : 9209068261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A) : If Integer 3 is odd then its square 'g’is also odd.
Reason (R) : If any number n is odd then its square {nz}is not necessary
odd.

In the light of the above statements, choose the most appropriate answer
from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090632649. 1
92090632650. 2
92090632651. 3
92090632652. 4

Question Number : 63 Question Id : 9209068261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& sy fe e B, o A we sifiiemya () & w0 T fafed § o guv 39
FRUR) S EFTH -

sffirpa= () - afe 3 e gof e g, &t 3w atf 9 oft guf T € gt

PRI (R) - ofe Us = n U fawn @ € d1 98 awas el ¢ f Iuesr
aif (n?) ot fewmr @ &

S Yl & 3eid |, A" AU MU fawed 7 9 a9 Suged SR &1 994

1 (@) 3R R) T WE € SR (R), (a) B S TR B

2. (A SR R) <HTEE E A R), (A) 1 UE srem T R
3. (A TE A m) wdt AT R

4. (A) HE 6T 2 Al (R WA R



Options :

92090632649. 1
92090632650. 2
92090632651. 3
92090632652. 4

Question Number : 64 Question Id : 9209068262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find in how many years will a sum double itself when given on 5% simple
interest.

1. 20 years
2. 10 years
3. 1hyears
4. 25 years

Options :

92090632653. 1
92090632654. 2
92090632655. 3
92090632656. 4

Question Number : 64 Question Id : 9209068262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopa oyl & U IR 5% b YR 4TS R G 81 Sl

1. 209§

2. 109

3. 1599

4, 2574
Options :

92090632653. 1
92090632654. 2
92090632655. 3
92090632656. 4



Question Number : 65 Question Id : 9209068263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If three numbers are in the ratio 1 : 2 : 5 and sum of their square is 120 Find the
number.

1. 1, 2and 5
2. 2,4and 10
3. 3,6and15
4. 4,8and20

Options :

92090632657. 1
92090632658. 2
92090632659. 3
92090632660. 4

Question Number : 65 Question Id : 9209068263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe o= remaff § ST 1: 2 5 8§ 3R 3% vl &1 4t 120 © o Hemd Fur gndl
1. 1,23R5

2. 24310

3. 3,635

4. 4, 8320
Options :

92090632657. 1
92090632658. 2
92090632659. 3
92090632660. 4

Question Number : 66 Question Id : 9209068264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the statements about set and their properties.
A, S={12 3,4, 5} is a set of order 5.
S = [0} is a set of order zero.
If a~b and b~c¢;then a~c ltisa transitive property.

If a~b,and b~a Itis a symmetric property.

m. 2.0 ¥

For all a, a~ b It is a reflexive property.
Choose the correct answer from the options given below :
1. A, C and E only
2 A, B and C only
3. A, C and D only
4

B and E only

Options :

92090632661. 1
92090632662. 2
92090632663. 3
92090632664. 4

Question Number : 66 Question Id : 9209068264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=y 3R 39S Uil & IR A A ol sy e
A. S={1,23 4,5} 5®I o Tg=T B
B. S={0}3YA $Ife &1 qu=a g
C. U a~p 3R b~c, T a~c U8 U YHTHd U B
D. f¢a~b, d9 b~a T8 UF TG U B
E. dfe9da® e a~p 98 UF W U B

- feu e fawedt 7 9 et IR &1 99 S -
1. PadA C3RE
2. FAAA B3R C
3. ®aAdA C3R D
4. HAAB R E
Options :

92090632661. 1
92090632662. 2
92090632663. 3
92090632664. 4

Question Number : 67 Question Id : 9209068265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—l with List=Il :

List—I List-lI
(Operation of union) (Law)
(A)| AuB=BuUA (I) | Associative Law

(B) | (AuB)uC=Au(BuC(C) (1) | Commutative Law

(C)| ALA=A (1) | Law of Idempotent

D)| Aup=A (IV) | Law of Identity

Choose the correct option from those given below :
1. (A)(I); (BY=(1): (C)(ly; (D)-(1V)
2. (ARl (B (C)HI); (D)(IV)
3. (A=) (B} (CH=(IV); (D)1

4. (AN (B(IV): (CH(I); (D)(1)
Options :
92090632665. 1
92090632666. 2
92090632667. 3
92090632668. 4

Question Number : 67 Question Id : 9209068265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i1 & T G- &1 e Sifor -

Q- G-
(@fvo @t e (Fram)
(A)| AuB=BUA () | gre=d e
(B) | (AuB)uC=Au(BUC) | (II) |wafafEg Fraw
(C)| ALA=A () | o7Raw &1 701
(D) | Aud=A (V) | e 1 01

4= fau o faerall O O wdl 39T F1vHE i
(A)=(11); (B)=(1); (C)=(I); (D)~(1V)
2. (A1) (B (C)=(l); (D)(1V)
3. (A1) (B (C)(IV): (D)1
4. (A (B)HIV): (C)H(I); (D))

—

Options :

92090632665. 1
92090632666. 2
92090632667. 3
92090632668. 4

Question Number : 68 Question Id : 9209068266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not related to Namami Gange (National mission for clean Ganga)
Programme?

1. This is a ‘Flagship programme’ of the Union Government.

N

This programme is started in June 2014.

3. The objectives of this programme are the effective abortment of
pollution, conservation and rejuvenation of river Ganga.

4. This programme will be stretched further to conservation and
purification of river Yamuna also.

Options :
92090632669. 1
92090632670. 2



92090632671. 3
92090632672. 4

Question Number : 68 Question Id : 9209068266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frofefEa o @ SF-a1 Sy= =iy 07 g & gefta T8 e
1. U8 &% GIHR &1 THIRM WanT g1
2. U8 SIAHH (HUTH) S 2014 T URH g3 U1

3. TR Tl T wuTE ot | UGHOT §R ST, TREMUT AUl T IER0l Sl 39
U & I ¢

4. gg UM (STdwH) 9gAT 9dl & TRe01 SR YIGH0 S aF Jar
ST |

Options :

92090632669. 1
92090632670. 2
92090632671. 3
92090632672. 4

Question Number : 69 Question Id : 9209068267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A shopkeeper needs to measure the purity of milk. Which instrument he should
usa?

1. Hygrometer
2. Lactometer
3. Monometer
4.

Viscometer

Options :

92090632673. 1
92090632674. 2
92090632675. 3
92090632676. 4



Question Number : 69 Question Id : 9209068267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U GHIFGR gY B Y&dl B A1 & U H19-3 93 &1 udiv s3m?

3. HHEEIR
4. fawreR
Options :

92090632673. 1
92090632674. 2
92090632675. 3
92090632676. 4

Question Number : 70 Question Id : 9209068268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Sickle cell anaemia' and ‘Thalassemia' diseases are hereditary as these are
generally caused by gene or chromosomal mutation. These diseases can be
categorised under:

1.  Allergic Diseases

2. Degenerative Diseases
3. Congenital Diseases
4

Communicable Diseases

Options :

92090632677. 1
92090632678. 2
92090632679. 3
92090632680. 4

Question Number : 70 Question Id : 9209068268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRarIal SR ey A, argdfde Am & ok WuRvE: i a1 TuREh IaftadE
AN A S RGN T E L R ) A0 | £ 77| - S—

1. el 3

2. 3UPHYS AT

3. O AT

4. UshiHd I
Options :

92090632677. 1
92090632678. 2
92090632679. 3
92090632680. 4

Question Number : 71 Question Id : 9209068269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is not a part of a flower?
1. Calyx
2. Corolla
3. Gynoecium
4

Placenta

Options :

92090632681. 1
92090632682. 2
92090632683. 3
92090632684. 4

Question Number : 71 Question Id : 9209068269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofif@d & @ S19-91 B &1 4T e 82
1. dREdys (i)

2. AU (SR

3. W

4. AR (8
Options :

92090632681. 1
92090632682. 2
92090632683. 3
92090632684. 4

Question Number : 72 Question Id : 9209068270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pollination is the mechanism for fertilization in plants : Plants use abiotic and
biotic agents to achieve pollination. Which one is not an agent of pollination?

1. Wind

2 Fungus

3. Water

4 Animals
Options :

92090632685. 1
92090632686. 2
92090632687. 3
92090632688. 4

Question Number : 72 Question Id : 9209068270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oREToy, diel F f8EH &1 UshH g1 9iE Wl & ford Gifde ok sraifds sRe! &1
ydm &g e | fFafafad & @ S19-91 e &1 SR T8l 87

1. 99

2. wEd

3. O

4. 9Hd
Options :

92090632685. 1
92090632686. 2
92090632687. 3
92090632688. 4

Question Number : 73 Question Id : 9209068271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Breathing involves two stages : inspiration and expiration.

Reason (R) : Expiration takes place when the intra-pulmonary pressure is
higher than the atmospheric pressure.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A)and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090632689. 1
92090632690. 2
92090632691. 3
92090632692. 4

Question Number : 73 Question Id : 9209068271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

R & sy fer e §, o @ ue sifirey (a) & wu I fifea € o gov Sus
FRU(R) FFIH

AMHYT (A) ;YT P S Ermy § Py 3 Fywa )

BRI (R) . O HRPUTHHY o, agrsey g | e g g
F:e B g

SuE HYEl & et #H, [ Gy e fAeed d ¥ waw Iuged IR &1 994

1. (A) 3R (R) G &1 € SR (R), (A) 1 UE1 s @

2. (A) 3R (R) THT O §, B (R), () 31 T amem T @
3. (AR RAFT R TR

4. (A) W T B AT (R) TR &

Options :

92090632689. 1
92090632690. 2
92090632691. 3
92090632692. 4

Question Number : 74 Question Id : 9209068272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prophase of the first meiotic division is typically longer and more complex when
compared to prophase of mitosis. It has been subdivided into the following
phases Arrange these phases into an order

A. Pachytene
B. Leptotene
C. Diplotene
D. Zygotene
E. Diakinesis

Choose the correct answer from the options given below :
1. A,B,G, D, E
2. B,D,ACE
3. B,D,CAE
4.

E,.C,A,B,D

Options :

92090632693. 1
92090632694. 2
92090632695. 3
92090632696. 4

Question Number : 74 Question Id : 9209068272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YA TRE! fauTe- &1 gaiaw A & 9 3f
@it Ut wifed gt €, 39HT IU- ﬁimﬁaaawaﬁﬂw %1s=|emmﬁ

&1 U ovH H Frafiyd Sifo .
A B
B. dPIdH
c. fmdH
D. W
E. SEFHFEARY
1 feu e fasedl & @ el IR &1 954 S -
1. AB,C,D,E

2. BDACE
3. B.D,CAE
-+ E.C,A,B,D

Options :

92090632693. 1
92090632694. 2
92090632695. 3
92090632696. 4

Question Number : 75 Question Id : 9209068273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements—| : Sun is the only source of energy for terrestrial ecosystem.
Statements—Il : Phytoplankton and Algae are called as producers in aguatic
ecosystem.

In the light of the above statements, choose the most appropriate answer from
the options given below.

| Both Statement—I| and Statement—I| are comrect
2. Both Statement—I and Statement—Il are incorrect
3. Statement—I is correct but Statement—I| is incorrect

4. Statement—I is incorrect but Statement—II is correct



Options :

92090632697 1
92090632698. 2
92090632699. 3
92090632700. 4

Question Number : 75 Question Id : 9209068273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FY— . g e SeuRfufiel & o sper ol &1 did 8|
FUT—I %?ﬁ{éhﬁﬂ:ﬁﬂfﬂ 3R Yara weia siguifRfst #§ Saes Fead
|

SIue YAl & e H, T few e fawedi d 9 et IR &1 9 Fife
1. BY—| R FY—I G T §
2. YT 3R BYF—II ST T &
3. YT GG ¢, A FYT— ST B

4, HYT—| 3TY g, Afhd FYT—I T &
Options :
92090632697. 1
92090632698. 2
92090632699. 3
92090632700. 4

Question Number : 76 Question Id : 9209068274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements—| : The Chipko Movement of Garhwal is related to protecting
wild animals from hunting.

Statements—Il : Amrita Devi Bishnoi Wildlife protection Award for
individuals is instituted by the Government of India for
protecting wildlife.

In the light of the above statements, choose the correct answer from the
options given below.

1. Both Statement—I and Statement—I| are true
2. Both Statement—I and Statement—I| are false
3. Statement—I is true but Statement—II is false
4

Statement—I is false but Statement—II is true

Options :

92090632701. 1
92090632702. 2
92090632703. 3
92090632704. 4

Question Number : 76 Question Id : 9209068274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS sy

FYT— %ﬁmmﬁwmmﬁﬁmﬁ?ﬁmﬁﬁ&ﬂ%m
|

FYT—I - Al odl fasts Siefleita GRen R, YRd WHR g, Sl

%ﬂaﬂaﬁmﬁmmﬁﬁmm@rﬁwﬁww

U By & aireies H, 12 3y e el § 4 |t 3w o1 =99 i
1. HYT—1 3R YA SH T &
2. HYA— AR FYA—I T WA B
3. $YT—1 Y 8, A FYT—I S §

4, HYT—| ATA g, dfFT YT TI T
Options :



92090632701. 1
92090632702. 2
92090632703. 3
92090632704. 4

Question Number : 77 Question Id : 9209068275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Non-renewable energy sources are

A. Coal

B. Hydropower

C. 0Oil and Natural gas
D. Solar energy

E. Geothermal energy

Choose the correct answer from the options given below :
1. B, and E only
2. CandEonly
3. AandC only
4. AandE only

Options :

92090632705. 1
92090632706. 2
92090632707. 3
92090632708. 4

Question Number : 77 Question Id : 9209068275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A ST
B. Gorufad
Cc. od iR urefas M
D. RSl
E.  Yardig el
- fou mu fawedt 7 O wgt IW &1 99 S
1. PddAB 3R E
2. HAAC IR E
3. FAAA R C
4, FAAASNR E
Options :

92090632705. 1
92090632706. 2
92090632707 3
92090632708. 4

Question Number : 78 Question Id : 9209068276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=Il :

List—I List-lII

(Name of organism) | [Chromosome number
in gamete (n)]

(A) | Human beings | (I) |06
(B) | House fly (I |10
(C) | Maize (my | 23
(D) | Rice (Iv) |12

Choose the correct option from those given below :
1 (A (B (C)-=(IV); (D)=(1)
2. (A)y=(; (B}-(1V); (CH(l); (D)(D)
3. (A)y(; (By(1); (CH(1): (D)-(IV)
4. (AR (B)=(1); (C)=(11); (D)=(IV)

Options :

92090632709. 1
92090632710. 2
92090632711. 3
92090632712. 4

Question Number : 78 Question Id : 9209068276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 & Ty G- 1 e Sifore

gt T
Gl FTTH) | [GHS F TR (n)]
(A) | HFESITA M |06
(B) | R HEE |y |10

(C) | ARl (ly | 23

(D) | =ra@ v |12

4= feu v fael & @ udt Iuw &1 99 S
(A)(1); (B)=(11); (C)=(IV); (D)-(1)

-
.

2. (A)(; (B)IV); (O (D)D)
3. (A1) (B (©)-(1); (DIHIV)

4. (A (B)-(1); (C)-I); (DHIV)

Options :

92090632709. 1
92090632710. 2
92090632711. 3
92090632712. 4

Question Number : 79 Question Id : 9209068277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is Fazenda?
1. A commercial grain cultivation
2 A coffee plantation in Brazil
3.  Arubber plantation in Malaysia
4

A sugarcane plantation in Indonesia

Options :

92090632713. 1
92090632714. 2
92090632715. 3



92090632716. 4

Question Number : 79 Question Id : 9209068277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WoleT o1 82
1. TP PGS 3 S Gl
2. siTelta ® SIwt & didf 3 Gt
3. Wafkm@ # §e & dei &t @t
4. SRR # A & didf Bt @A

Options :

92090632713. 1
92090632714. 2
92090632715. 3
92090632716. 4

Question Number : 80 Question Id : 9209068278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=I with List=Il ;

List-I List—II
(Railway Zone) (Headquarters)
(A) | Central (1) | Chennai
(B) | Eastern central (1) | Jabalpur

(C) | Western central (lll) | Mumbai CST

(D) | Southern (IV) | Hajipur

Choose the correct option from those given below :
1. (A=) (B (C)=(I); (D)=(1V)
2. (A=) (B)=(I); (CH-(IV); (D))
3. (A)y(ln); (By-(IV); (Cy-(l); (D))
4. (AR(V) (B)=(H); (C)=(); (D)

Options :

92090632717. 1
92090632718. 2
92090632719. 3
92090632720. 4

Question Number : 80 Question Id : 9209068278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G- & iy a1 &1 e sifo

Tl G-I
(e &) (qeHTer)
(A) | P (1 |==%

8) | gdf Hftg () | SEaR
© |dfEgeft =g | qny | gMEg (CsT)
(D) | afémft (Iv) | grliRR
1 feu e fawedt & & |dt 3w &1 99 S
1. (A=); (B)=(I1); (©~(IIN); (D}-(1V)

2. (A1) (B (V) (D)D)
3. (AI); BYHIV); (C1); (D)D)
4. (A)-IV); (B (O (D)1

Options :

92090632717. 1
92090632718. 2
92090632719. 3
92090632720. 4

Question Number : 81 Question Id : 9209068279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Ceres’ is a
1.  Super Moon
2. Dwarf Planet
3. Comet
4.  Lunar Eclipse
Options :
92090632721. 1

92090632722. 2
92090632723. 3



92090632724. 4

Question Number : 81 Question Id : 9209068279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W R/
1. YR
2. dWMIUE
3. YHEg
4. dguEUl
Options :

92090632721. 1
92090632722. 2
92090632723. 3
92090632724. 4

Question Number : 82 Question Id : 9209068280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Planning commission has been replaced by
1. Lokayukta
2 Ministry of education
3.  NITI Aayog
4

Election commission

Options :

92090632725. 1
92090632726. 2
92090632727. 3
92090632728. 4

Question Number : 82 Question Id : 9209068280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS TERT 1 fbud ufawnftd fear mn g2

1. S

2. T dare

3. i sman

4. TG AT
Options :

92090632725. 1
92090632726. 2
92090632727. 3
92090632728. 4

Question Number : 83 Question Id : 9209068281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is the first organic state of India.

1. Manipur

2. Maharashtra

3.  Sikkim

4. Kerela
Options :

92090632729. 1
92090632730. 2
92090632731. 3
92090632732. 4

Question Number : 83 Question Id : 9209068281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. PR

2. HER

3. fufewn

4. HW
Options :

92090632729. 1
92090632730. 2
92090632731. 3
92090632732. 4

Question Number : 84 Question Id : 9209068282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—l with List=Il :

List—I List-lI
(Place) (Associated with)
(A) | Corsica (1) | Jesus Christ
(B) | Jerusalem (I} | Alexander
(C) | Trafalgar (Ill) | Napoleon Bonaparte
(D) | Macedonia (IV) | Nelson Mandela

Choose the correct option from those given below :
1. (A1) (BY(1): (CH(H); (D)-(1V)
2. (A(); (B (C)=(IV); (D))
3. (A=) (BY(1): (CH(IV); (D)=(H)
4. (A(IV); (B)=(1): (C)(I); (D))

Options :

92090632733. 1
92090632734. 2
92090632735. 3
92090632736. 4



Question Number : 84 Question Id : 9209068282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tell-1 & a1y G- &1 e Sifore

g It

(&) @ Wefra @)
W |FRFBT | () |SHEdE
(B) | SETEH | () | TETEER
(C) | TTHER (i | AferE ST
(D) | TEEFm | v) | A HEe

= e o e 3 udt ouv 1 9w wifn
1. (AI); (B-(1); (C—(1I); (D)-(1V)

2. (A (B)1); (C-IV); (D))
3. (A1 (BY-(: (CHIVY; (DY
4. (AHIV); (B)=(1); (C)=(l1); (D)-(H1)

Options :

92090632733. 1
92090632734. 2
92090632735. 3
92090632736. 4

Question Number : 85 Question Id : 9209068283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following significant events in accordance of their chronological
order, the oldest one comes first.

A. Execution of Mussolini
Foundation of UNO
USA dropping an atomic bomb on Japan

End of World War |

m o O

Hitler becoming the chancellor of Germany
Choose the correct answer from the options given below :
1. EAEDB
2. DEABC
3. EADBC
4 D,E.ACB
Options :
92090632737. 1
92090632738. 2

92090632739. 3
92090632740. 4

Question Number : 85 Question Id : 9209068283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau v fagiy Sl 1 3% STadH H, 998 R I 99 60 & YR JdfRd
$|%’IEJ

A, TEfeEt & wid
B. UNO &I U=l
C. USA S SMUH W §H fIRFI
D. Ugdfay gg &1 3id
E.  feeer &1 onfht &1 parftufy @) s
i fgu T fawedl 9 O waw Iuge I 1 994 HifeT
1. EACDOSB
2. D,EABC
3 EADBT
4. D,EAC,B

Options :

92090632737. 1
92090632738. 2
92090632739. 3
92090632740. 4

Question Number : 86 Question Id : 9209068284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List=Il :

List-I List—lI
(Palitical header) (Political party)

(A) | Babasaheb Bhimrao Ambedkar (1) | Bharatiya Jana Sangh

(B) | A. K. Gopalan (Il) | Independent Labour Party
(C) | Shyama Prasad Mukherjee (Ill) | Communist Party of India
(D) | Rajagopalachari (IV) | Swatantra Party

Choose the correct option from those given below :
1. (A1) (BHIV); (CHI); (D))
2. (AHIL; (B (C(1): (D)-(1V)
3. (A (BHIV): (CH(I); (D)

4. (A(IV); (B)=(llT); (Cy=(I); (D)D)
Options :
92090632741. 1
92090632742. 2
92090632743. 3
92090632744. 4

Question Number : 86 Question Id : 9209068284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gell-1 & iy Gelt-11 &1 e Sifse

- -
(TS CIEE I REAE)]
) | s aeg m ug s | ) | WRdE 99 Oy
(B) | @ &. TiareH 1y | ad= 4fie ga Efeuse
e urd)
(C) | <ar wre it ) | UReg grErdt ga
(D) | Ht. TeTaTAER (v) | Tac= urdf
1 feu o fasadi # O WE IR &1 9u Hifore -

T (A1) B-(V); (©-(II); (D))
2. (A (B-(); (C)~(1); (D)~(1V)
3. (A B)-(1V); (1) (D))

4. (AHIV); (B (C=(); (D))

Options :

92090632741. 1
92090632742. 2
92090632743. 3
92090632744. 4

Question Number : 87 Question Id : 9209068285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements—I| : Under the provision of Article 352 of the Indian
Constitution, the government could declare a state of
emergency on grounds of external threat or a threat of
internal disturbances.

Statements—II : Once an emergency is proclaimed, the federal distribution
of power remain practically suspended and all the powers
are concentrated in the hands of the President of India.

In the light of the above statements, choose the correct answer from the
options given below.

1. Both Statement—I and Statement—I| are true
2.  Both Statement—I| and Statement—II are false
3. Statement—I is true but Statement—I| is false
4

Statement—I is false but Statement—I| is true

Options :

92090632745. 1
92090632746. 2
92090632747. 3
92090632748. 4

Question Number : 87 Question Id : 9209068285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FYT—  : HRAN G & 3wdG 352 & IUEY & Hid PR el Wl
a1 3y wifa 171 81 & fhadl oy & SnyR W smarafufa &1
HIY0N HY bl gl

FY—Il ;.  UF &R, Auarfa o g9won g1 W ufdadl &1 g faavo
andeTe U ¥ fdfad g1 omar § ofk ot wfdal wra & wyufa
& g1di 7 Hfd 8 9t 21

Iuad YAl & et H, R few e fawedt i 9 wEt IR &1 9 Fife
1. PYT— MR FYA—N S A &
2. HYA— IR HYA— SHT T §
3. PYT—| TG ¢, A YT A B
4, FYT—| Y ¢, AP FYT—I TI 8

Options :

92090632745. 1
92090632746. 2
92090632747. 3
92090632748. 4

Question Number : 88 Question Id : 9209068286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Historically, the understanding of inequality in the social
sciences has been dominated by notions of class, race and
more recently, gender.

Reason (R) : Social exclusion is not accidental but systematic, it is the
result of structural features of society.

In the light of the above statements, choose the most appropriate answer
from the options given below.

1.  Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A} is correct but (R) is not correct

4. (A} is not correct but (R) is correct

Options :

92090632749. 1
92090632750. 2
92090632751. 3
92090632752. 4

Question Number : 88 Question Id : 9209068286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 3wy e e g, o A w aifiimya (4) F w0 1 fafed § O g 99
FRU(R) F EUH :

fiipya (a) - Ufdefe &0 8, amfos fagE d sammar &1 9ws W avi,
ot 3R g1 gt § wie (fein) &t yRunaii &1 g=d w1 gl

SR (R) . gfoie Sfessvu gHeqsH T8 € afce omife 81 U
AT P TXEES faansif 1 ufvomm g1

Sua Pyl & e #, -9 AU U fGhedl A § Hed IUYR SR BT 99
Biforg ;

1. (A) 3R (R) THI T8 € 3R (R), (A) P T e 8

2. (&) 3R R) ST T € A (R), (A) P T amem T @
3. (A) UEl & dfd R) WE T @

4. (A) Hel 6l ¢ dfeh (R) WEI @

Options :

92090632749. 1
92090632750. 2
92090632751. 3
92090632752. 4

Question Number : 89 Question Id : 9209068287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In India; the sex ratio is worked out using the following formula :

Male Population i
Female Population

Female Population

100
Male Population >

Male Population "
Female Population

Female Population

000
Male Population )

Options :

92090632753. 1
92090632754. 2
92090632755. 3



92090632756. 4

Question Number : 89 Question Id : 9209068287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URd #, ol srura Ferad &1 g a2

&Y SHE

1. r2100
T ST

2 — x 100
ST

3. g'gq—,xmuu
Tt W

4 . x 1000

Options :

92090632753. 1
92090632754. 2
92090632755. 3
92090632756. 4

Question Number : 90 Question Id : 9209068288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the current times, the guru-shishya system is prevalent only in the realm of
the arts in the training of dancers and musicians. The long period of
apprenticeship with the guru and the strong emotional bond between guru and
shishya, all necessitate a cognitive mode that requires that the student be
constantly but aptly placed in a

1.  learning environment

2 testing setting

3. performing environment
4. continuous setting

Options :

92090632757. 1
92090632758. 2
92090632759. 3
92090632760. 4



Question Number : 90 Question Id : 9209068288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g grg H, 3-Rrsy yornelt &1 U= Fad s F a7 §, Tde! gyl Siftadl &
e & €1 1 7% & ary e o el arafil qun e ok R & dt we srguye
AT Ty, ﬁﬁﬂwmmmﬂa{m&m%mﬁMmﬁaﬂ

Had fég Sugad 18 # wiftra @ o 81
1. ST qrdTaRol
2. e famE
3. DIYd UEd $ $ e Suga araravun
4. sffaf=sd fa=mg
Options :

92090632757. 1
92090632758. 2
92090632759. 3
92090632760. 4

Question Number : 91 Question Id : 9209068289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Performing in a show teaches a learner how to take criticism and apply it. As a
result, it may teach them to be

1.  Humble

2. Critical

3. Smart

4 Egotistical
Options :

92090632761. 1
92090632762. 2
92090632763. 3
92090632764. 4

Question Number : 91 Question Id : 9209068289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

o A UeRH g S-S d fAue qur I9$T UdnT $31 & gRunH 494,

yesHadl faemdf &1 — 71 e &1 sraeR e 21
1. faw
2. =TS
3. W
4. Sigsd
Options :

92090632761. 1
92090632762. 2
92090632763. 3
92090632764. 4

Question Number : 92 Question Id : 9209068290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The primary motive of using puppetry in teaching processes is likely to ... the
students

1. Entertain

2 Excite

3. Delight

4 Educate
Options :

92090632765. 1
92090632766. 2
92090632767. 3
92090632768. 4

Question Number : 92 Question Id : 9209068290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRreror uftran & Seqact &1 uhh &3 &1 g S fReffai st B

1. TENGH ST

2. IgH T

3. HfEaHT

4. fufé@ s
Options :

92090632765. 1
92090632766. 2
92090632767. 3
92090632768. 4

Question Number : 93 Question Id : 9209068291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The emphasis on ... singing in music education programs is closely linked with
the general teaching idea that learning is based on drill

1. Syllables

2. Pitch

3. Notation

4. Composition
Options :

92090632769. 1
92090632770. 2
92090632771. 3
92090632772. 4

Question Number : 93 Question Id : 9209068291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl Renedesdid | oA W ad, e & 59 9 sEyrRon ¥ o8 avE
9 g% 2 B aiftnmm sngrg W anefya 21

1. HE&R

2. WY

3. Wfafm

4. HOE
Options :

92090632769. 1
92090632770. 2
92090632771. 3
92090632772. 4

Question Number : 94 Question Id : 9209068292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It is important for the teachers to understand that health is a concept as
it is shaped by biological, social, economic and political factors.

1. multidimensional
2. national
3. unitary dimensional

4. medical

Options :

92090632773. 1
92090632774. 2
92090632775. 3
92090632776. 4

Question Number : 94 Question Id : 9209068292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. agamant

2. UHd T

.

4. RfFasl
Options :

92090632773. 1
92090632774. 2
92090632775. 3
92090632776. 4

Question Number : 95 Question Id : 9209068293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An analysis of the morality and nutritional indicator from the pre-school,
primary, secondary and senior secondary levels show that and
communicable diseases are the major health problems faced by the majority of
the children in the country.

1. physical disabilities
2. under-intelligence
3. under-nutrition

4, mental health issues

Options :

92090632777. 1
92090632778. 2
92090632779. 3
92090632780. 4

Question Number : 95 Question Id : 9209068293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632777. 1
92090632778. 2
92090632779. 3
92090632780. 4

Question Number : 96 Question Id : 9209068294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It is important for the teacher to know that (As shown by NFHS5 (2019-2021)
data) there is an anaemia problem in the country. of women aged 15 to
49 and of men aged 15 to 49 are anaemic out of which a significant
number is of boys and girls enrolled in secondary school.

1. 57 percent; 25 percent
2. 27 percent; 15 percent
3. 67 percent; 35 percent
4. 17 percent; 05 percent

Options :

92090632781. 1
92090632782. 2
92090632783. 3
92090632784. 4

Question Number : 96 Question Id : 9209068294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 57 Widwrd, 25 wiawd
2. 27 yfasrd, 15 wfaed
3. 67 ufcwrd, 35 ufaerd
4. 17 yfa=rd, o5 wfaerd

Options :

92090632781. 1
92090632782. 2
92090632783. 3
92090632784. 4

Question Number : 97 Question Id : 9209068295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Comprehensive school health programme should include medical care, health
and physical education, clean school cnvironment and

1.  parental health
2. teacher health
3. distribution of medicines

4. school lunch

Options :

92090632785. 1
92090632786. 2
92090632787. 3
92090632788. 4

Question Number : 97 Question Id : 9209068295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632785. 1
92090632786. 2
92090632787. 3
92090632788. 4

Question Number : 98 Question Id : 9209068296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Both yoga and physical education should be regular part of the and must
be seen as components of comprehensive school health programme.

1.  parents’ responsibility
2.  society responsibility
3. school timetable

4.  child's home schedule

Options :

92090632789. 1
92090632790. 2
92090632791. 3
92090632792. 4

Question Number : 98 Question Id : 9209068296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632789. 1
92090632790. 2
92090632791. 3
92090632792. 4

Question Number : 99 Question Id : 9209068297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The song ‘'Itni shakti humeindena data’, popularly sung in morning assembly in
schools, originally sung by which of the following singers in a film?

1. Kamal Barot

2 Sudha Malhotra
3. Pushpa Pagdhare
4

Mubarak Begum

Options :

92090632793. 1
92090632794. 2
92090632795. 3
92090632796. 4

Question Number : 99 Question Id : 9209068297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. ®AdEed
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Options :

92090632793. 1
92090632794. 2
92090632795. 3
92090632796. 4

Question Number : 100 Question Id : 9209068298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHO has set a standard chart to determine health status using weight through
BMI. Choose the Correct statements for BMI.

A. BMI less than 18.5 is known as under weight
BMI from 18.5 to 24.9 is of over weight
BMI = 30 is obesity

BMI from 25 to 29.9 is over weight

m o o @

BMI less than 20.5 is under weight
Choose the correct answer from the options given below :

1. A,Cand Eonly
2. AandC only
3 B, D and E only
4 A only

Options :

92090632797. 1

92090632798. 2

92090632799. 3
92090632800. 4



Question Number : 100 Question Id : 9209068298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. fay Targ TieH A W W1 & A9 & fore BMI & AT | HR &1 A S
g0 Us S 91¢ daR 1 81 s SHuR #19 & $y9 M1 & fore 3fa &2

A. 185 Y HH BMI B SUHR HgT T &

B. 18.5 ¥ 24.9 g% BMI ! AHfAHR &1 T §
C. BMI = 30 &! HieTal &gl 741 §

D. 253 29.9 % BMI FI ARUR FEr T ¢

E. 2059 $HBMI & SEHR el 1 ¢

3 fau o faesedl @ | WEt IWR F1 997 Hifor -
1. ®ddA, C 3RE
2. FadA MRC
3. %aaB,D 3RE
4. FHA@A
Options :

92090632797. 1
92090632798. 2
92090632799. 3
92090632800. 4



